ITEREAA QR UV

[KHE[FE#X] ER31E3IAS (ER31FE4R1ABRHE)
T B X A A A 1t T
5 3 it

WLDF1TH 149 161 310 145
lnF2TH 256 289 545 231
W W1TH 90 119 209 111
W IWW2TH 527 508 1,035 464
st ET1TH 258 295 553 247
st BT2TH 187 164 351 158
MEET1TH 154 155 309 155
HEET2TH 251 257 508 234
MEET3TH 326 328 654 257
fh =1TH 165 210 375 173
o R2TH 165 206 371 190
FEET1TH 204 269 473 242
FEEI2TH 196 214 410 167
£ E1TH 364 394 758 352
£ X2TH 171 193 364 180
£ IX3TH 305 293 598 247
£ X4TH 225 222 447 205
A HE1TH 614 633 1,247 560
A HET2TH 298 311 609 248
X IL1TH 321 301 622 301
X L2TH 341 324 665 322
X IL3TH 406 433 839 396
£ [FE1TH 651 758 1,409 623
£ [F2TH 803 762 1,565 651
%X JE3TH 880 896 1,776 722
% &T1TH 326 315 641 277
x &F2TH 792 775 1,567 645
% &STH 975 992 1,967 832
x F4TH 169 169 338 144
% &S5TH 63 63 126 39
= N H 493 486 979 407
EXR1TH 709 646 1,355 591
ELXTR2TH 161 161 322 117
= E1TH 554 593 1,147 526
= H2TH 276 242 518 278
m B E 1,516 1,507 3,023 1,163
N Hi 14,341 14,644 28,985 12,600




[£HEMX]

T B X Al A T
F B E 1,671 1,670 3,341 1,386
T = 93 98 191 65
pid H 103 105 208 63

fit] 30 28 58 20
5 R 179 170 349 137
F % R 103 93 196 66
= pu 306 307 613 188
m 2 iR 492 489 981 345
f& B 175 202 377 137
bp | 270 282 552 202
Z & R 169 145 314 111
N & 656 612 1,268 476
i € A 516 544 1,060 462
e A 501 485 986 364
+t B R 356 340 696 299
£} iR 234 219 453 146
B I 243 249 492 160
B =} 237 235 472 146
7R g 15 14 29 11

d X#MA 128 154 282 162
N Hi 6,477 6,441 12,918 4,946

[FEHX]

T B X A A T
3] 587 594 1,181 439
= i) 701 754 1,455 602
8 iR 120 125 245 83
& fit] 121 118 239 73
1€ 240 225 465 149
F A 408 447 855 269
¥ ¥ H 139 149 288 99
N 5 2,316 2,412 4,728 1,714




[EF iR X ]

T & X Al A Gl
+t 75 E 438 457 895 367
T A E 655 667 1,322 596
& = 1,536 1,471 3,007 1,202
E R 78 67 145 41

¥ B\1TH 118 135 253 106

¥ B2TH 231 244 475 194
7 =t 3,056 3,041 6,097 2,506

[MEAILHX]

T B X Al A T
£ A W 591 648 1,239 453
e iR 119 120 239 72
X i 161 143 304 112
1= [R 312 292 604 230
/N it 1,183 1,203 2,386 867

[ FHX]

T B X A A G
TRIR 226 223 449 144
INIRE 84 71 155 61
SEE 543 546 1,089 401
ERL 454 418 872 302
B K 284 276 560 203
% [ 392 396 788 258
IR 50 45 95 36
FFFH 119 121 240 88

I\ B 2,152 2,096 4,248 1,493




[BFHX]

T & X Al A Gl

2T AT 321 335 656 249
B HE 413 377 790 301
gz N 175 164 339 133
L5 E 335 312 647 258
I\IE 140 157 297 125
itiE 152 154 306 97
AH 146 169 315 103
-3/8 173 137 310 107
xE 30 22 52 19

I\ st 1,885 1,827 3,712 1,392

[P X ]

T B X A A o

2 PR T 665 699 1,364 508
XEH 279 300 579 226
R 167 175 342 117
el 230 217 447 154
BARR 303 308 611 203
E£H 630 524 1,154 468

R =t 2,274 2,223 4,497 1,676

[ Rt X ]

T B X H A T
FEFA 238 253 491 158

AR 180 185 365 122
g i) 94 102 196 65
F1E 56 56 112 38
ANEE 57 54 111 37
RAR 65 58 123 44
AEFX 83 157 240 120
Kim 141 143 284 100
JIIA 71 73 144 63
I\ B 985 1,081 2,066 747

[ZEE)IMX]




T B X Al A T
5 = 5
BlEX 263 276 539 209
AEI 316 321 637 262
EEF 62 62 124 48
nE 18 17 35 20
mA 86 75 161 63
1\ & 745 751 1,496 602
= at
A -
B & + w
35,414 35,719 71,133 28,543




